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A
2 u9flwev / BIOLOGY

(SO wHmbd mdle eufl / Tamil & English Version)

&1 =amay : 3.00 wanfl Cryw | [ Qrgg willtuarser : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70
SPleyenTse : (1) @asg aflenmésEnn sMwrs udourd o drergT eramugemen sflUTTESIS
Qararera|b. BiFalLdeler GmpuildLiGer oemns samsreantllumerflb
o Lanqwrss CsfleillEseyL.
(2) feowdb owg spUy owoulemear  LLEGCWL  TEWIHUFDGLD
g &CaEMyHeausn@GL vweaTuBhSS Coiam(Hb. UL BT euenyeusnE
Quendler LweTUHSSELD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOl : uGH-I (2u9fl-greureiiwed), ugdl-1I (2-wif-alewmdwud) saliggal elamLssraflen
eSlenL_wefl&saLb.

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer books.

u@S - 1 (2-ulfl-greureflwed) / PART - I (BIO-BOTANY)
(AlGuersar : 35) / (Marks : 35)

9fley - 1 / SECTION - 1

@Oy : () Slemensg famss@psiEh ellaweflésayb. 8x1=8

(i) Qar@sslul@erar mren@ wrHn aNLsalled Wsayb gHLe LW
eflenLemwg CoibosHss GO HLer sflenLulananyd Corss er(pseyb.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1.

stnufen el iab 12 womi@etd, @flaparafler femb 10 _ori@ath InmHmin @blaper

BETHS HNTID 5 coym@IOns @mbsne, Hreaighilar o amaninuime far euenmasluflenen

ST Hluiab.

(<) 12 @iiGoDd  (94) 3 omi@on () 30 SiBi@OD

(/F) 6 2ABIEHID

If the diameter of the pulley is 12 inches, length of pointer is 10 inches and distance travelled

by pointer is 5 inches, calculate the actual growth in length of plant:

(@) 12 inches (b) 3 inches (c) 30 inches

Srer safl NmbHE 2 (Heurdlng).
(=) v BGRE Qe GHosLianU

(=) v Qe @eua; Qe @GesLemu
(8) »w wepef

(FF) U GemUTE GHOE Qe GVGLIL
Aggregate fruit develops from :

(a) Multicarpellary ovary

(b) Multicarpellary, syncarpous ovary

(c) Whole inflorescence

(d) Multicarpellary, apocarpous ovary

Bar@n @Lbuwrrg gaflob :
(21) &TEOSIWILD (<1,) LGV LG (@) enmLregett
The element which is not remobilized :

(a) Calcium (b) Phosphorus () Nitrogen

(d) 6 inches

(rF) Qumicmdwub

(d) Potassium
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Epdaarri erha Qo pamgnimiiy weflgaiiar Carpnsens L@y G
o sadlng ?

(o) vamaaiatn (<21) Gamevens 2_L_evib

(®) erGurGamp () enwl_Grmameriq.fir

Which one of the following cell organclles is used to trace human origins ?

(a) Chloroplast (b) Golgibody

(¢) Ribosome (d) Mitochondria

EDSE@TLUDDIET 6T S DETeUTaNg;) sflebi ssfafssaler LweauBEns ?

(=) omdGanfiwmr (<) <evCasmAerevid
(®) eCamdraer (FF) Qysev

Which one of the following algae is used for sewage treatment ?
(a) Laminaria (b)  Ascophyllum

(c) Chlorella (d) Fucus

Bodgdoe grarmsald ol GUCUTGSH CeupBlsrors 2 GTETg). QYAMD R

cisdlevers sreurhiseicd wieueumm @aana. erQareammme, QmalgHere greurrisefie,

(31) cuePeTILONS EUTELEGNT SHEMEET DHE HLILIZ)

(=) ariré CabGuib b muug

(8) @swd GRml sapiser erepaauilsd Qmbs <HB&s wenan ey K enenba)
S HE (HLLIg)

(rr) @uam_mb flenew eueriddlasrer Caublwib ewbHmoLg

Grafting is successful in Dicots but not in Monocots because the dicots have :

(a) Vascular bundles arranged in a ring

(b) Cork Cambium

(c)  Vessels with elements arranged end to end

(d) Cambium for secondary growth
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7. aupanL fleog srerorer gueaagur-add erdeuans Srreil GUTEE grgSwib ?

(=) Qeamgsd Brrefits Gumsw

(=) Al fer HrreQls Gunés

(8) Qewsgmar Brreds Gurés

() GupsmPlu oiemarggid

What type of transpiration is possible in the Xerophyte Opuntia ?
(@) Lenticular

(b) Cuticular

() Stomatal

(d) All the above

8. galéGsisas gallelmandea sfluirar mpdleaeans sar_dls.
(1) PST -1 eflement enpwiomes LFanswid ‘a’” -ufler gafl rirliL) 2 51 680 nm <,@GLD.
(=) geflemt B uEUY PST 2 L6t QgmiiyenLwg. |
(@) PSII -enn eflena enwowiprer LIFmFWILD ‘a’ -e gefl iy 2 F51b 700 nm ,GLd.
(/F) PSTwpmitd PS I < dlwenes NADPH+HY2 meurgeiled L@ Qumislmg.
Identify the true statement regarding light reaction of photosynthesis.
(a) The reaction center of PS I is chlorophyll “a’ with absorption peak at 680 nm
(b) Photolysis of water is associated with PS 1
(c) The reaction center of PS II is chlorophyll ‘a” with absorption peak at 700 nm

(d) PSIand PSIIinvolved in the formation of NADPH+H*
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S1fley - 2/ SECTION -2

@Y eremeuCuignid mresid olilenindsend@ oNenwafldsan. 4x2=8
Note : Answer any four questions.
9. wrawHue whmid wrdstoRlmauiud — GaimLdss.
Differentiate - dendrochronology and dendroclimatology.
10.  earedlen 2 Wlrpp LeTLEET TGseEID QrerTig ene eT(LPFs.
Write any two non-living characters of virus.
11. “Semidled’ — cuenywmIGSeyLD.
Define - ‘Synapsis’.
12. sepguUUDMETET Freurhiseatled Hours mey WAL Lswib. eer ?
Respiratory quotient is zero in succulent plants. Why ?
13. EpéssamoupinG soastsrpser sms.
(<31) @ euenmm EIHS SMeT
(<) DETHS STEATEET () SIS @enenThs &THS STETSET
Give the technical terms for the following :
(a) A sterile stamen
(b) Stamens are united in one bundle.
14. Bflwe fpewans sl HULOESHID FnSar Wrene ?
What are the parameters which control Water Potential ?
A [ liys / Turn over
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Dfley - 3/SECTION -3

GOy : eeauCuend eenm) clarmahsendse el wafldssatb. efeorm eremr 19 -&(&

s nuors e walldsa)ib. 3x3=9
Note : Answer any three questions. Question No. 19 is Compulsory.

15. B earis euemitiy e wanarildmr eueriiin) updl Hpr GHIUY T (SIS

Write short notes about Hydroponics or soilless culture.

16. Gauflen u@dHsemer LD cuamIhg UTGREGMETES GDESALD.

Draw and label the parts of regions of root.

epapwigw CsBL 2 WM aimpsmss swame @il e oigu CaSl 2 uilfl UMTLPEDSE

sRAISGEE CoumuBssis.
Differentiate - haplontic and diplontic life cycle.

18. pflen wiaTLsmeT 6T(HEIS.

Write the properties of water.

19. ol gmellen uamflsemer erpsis.

Write the functions of Nucleus.

9fley - 4 / SECTION - 4
GOILY : Sewensg lammés@ns@n eblenweflésayb. 2x5=10
Note : Answer all the questions.
20. (=31) Sedlwib Fur greursens samaFdamhaearme efeuflésab.
S{6V6EV G
(<21,) DNA -eflem Splblwesener 6r(psis.
(a) Write the botanical description of Allium cepa.
OR
(b) Write the characteristic features of DNA.

21. (=) dlyliev sppHlulenar cllaré@s. (alleTésbd (i) euanruLLb)
SISV G
(<,) evavdgangaflen QMGG 6T(LP5)&.
(a) Explain the Krebs Cycle. (Explanation (or) Flow Chart)
OR
(b) Give a general account on lichens.
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L& - 11 (2-wWifl-efevorudlwed) / PART - 11 (BIO-ZOOLOGY)
(EGluevmrasen : 35) / (Marks : 35)

Wfley - 1/SECTION -1

GBIy = (i) SN E | el urTé; (e s g Lb eflenL_wef&gab. 8x1=8

i) Qer@ssciur Gerer BrenE wrom el sefer Wseayb ordHLenw
: aﬁ\m;eo)lu_l,{r, CorbQs05816 @GOG HLen dlenLlemeryb Geisg
T(PSEYLD.

Note : ()  Answer all the questions.

1'

() Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer,

HerrGLrélymb erenug) Sipsaaior THS LaLsamens QsrarT(heTeng) ?
(=) euesiumriguwied LMD QFTE LMWL

() 2L DEswelwe whmw o udf Geudluwicd

(8) Gséd wHmibd SaeNwd

(F) uflewmo wHMID LOFLeuL

Which of the following characters does a cladogram have ?

(a) Taxonomic and Systematic

(b) Physiological and Biochemical

(c) Cell and Histology

(d) Evolutionary and Phylogenetic

2 WiriygHwes eremig) :

(1) erepélu Qamererera) + QeueflFseurs CadlliLg GareTeraTay

(=) epéasamim erey + ol saurs CallliLg Osrdtereray

(8) apssssrpm ietey + 2l seurs Callliyg Qsretererey +

Clauafidseure Gallliys Qameraremey

(rF) opss&amhn erey + Caalfsaurs Callliyg Carerereray

Vital capacity is : '

(a) Residual Volume (RV) + Expiratory Reserve Volume (ERV)

(b) Tidal Volume (TV) + Inspiratory Reserve Volume (IRV)

(c) Tidal Volume (TV) + Inspiratory Reserve Volume (IRV) +
Expiratory Reserve Volume (ERV)

(d) Tidal Volume (TV) + Expiratory Reserve Volume (ERV)

[ Hpliys / Turn over

kindly send me your key Answers to our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.com

7627 8

3. Qamgpuiy QafiorengHen apsad Ly !
(<o) @Te@sdr anfiGu o fydbsd '
(<) LTI G
() =ngGumev Hassaiicr Cadliy
() Qprd Qeweonir®
First step in digestion of fat is :

(a) Absorption by lacteals
(b) Emulsification
(c) Storage in adipose tissue

(d) Enzyme action

4. GurCLrensl Hser sremriubhoug) :
(<=1) QmooLigraflen supssl LGS ule
(<=3) Querwrefen Semrenr CeueflFaauflen
(@) Aermogreni @rés HeabreThiseflen sourfld
(rF) Quenmioreaflen Hamran o L seuifled
Podocytes are the cells present on the :
(a) Neck of nephron |
(b) Outér wall of Bowman’s capsule
(c) Wall of glomerular cai)illaries

(d) Inner wall of Bowman's capsule

5. @Gumger spgs ey g5 505500 paEAul ukisTHnSnS).
(1) STULT (=) N&EQs 6
(@) =&CrTangTed (rF) evasirell
lodised salt is essential to prevent :
(a) goitre (b) rickets
(c) acromegaly (d) scurvy
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2 &TTES) ppenar e mPEFUILIHIG 6Tg ?

(=) e@antiGurgeamoen (<) WPGeTDd

(Q) srruGumyr Gaur_f@gullamnr () &Nb9s wemr_eb
Which is called as “Emotional brain” ?

(@) Hypothalamus (b) Medulla oblongata

(c) Corpora quadrigemina (d) Limbic system

sapml  :  seellUuupliy ¢m Qrrefls CaefyLear e L@ Caatésd LDHS)
Qeeoaid @ Apliurer UPESED Hlepey <4, @LD.

SMTETOTLD : @rrenfls Gaal SQUCTTGurer ergyd anmiGurer CauduGummenar
2 HugsH Osliflamg. duelLsHe o drer yaw Csatsser
o LLGTTCrarmed seurliLl B Yewidd penLQumdlamg,.

(1) Snppid sMrewTw s wHmL Flwrs Asm_ifuESSLLL GeTarg

(<) FapmId SMresET(pd &fl Yeamd geamiler gam sflwures QgriyuBSsILL -
efldbeney

(@) snppub &ML Seum LHMID FAwrs AgriiLuESSILLaldaa

(rr) sapmib sMrewIpd Seum emed sflwns QsrityuBssiulHererer

Assertion : Nuptial flight is a unique flight taken by the queen bee followed by several
drones.
Reason : The queen bee produces a hormonal chemical substance called pheromone.

The drones in that area are attracted to the pheromone and then mating
takes place.

(a) Assertion and reason are correct and related.
(b) Assertion and reason are correct but not related.
() Assertion and reason are incorrect and not related.

(d) Assertion and reason are incorrect but related.
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8.

@@Dq : eremeuGuignid mreE cllammésEnéE oL wallésay.

sroura ysSluflen urieneuuiler auens :

(=) Qurenss

(<) puufwred

(@) srourar yEHule urree sraTlLBauBDme
(7)) Q@ uflbresrid

The type of vision in cockroach is :

(@) Mosaic

(b) Three dimensional

() Cockroach does not have vision

(d) Two dimensional

91fley - 2/ SECTION - 2

Note : Answer any four questions.

10.

QL Lafl ereuaurm U Emg ?

How is tetany caused ?

seuenaruile sreTliL(HID HEUTE (LPEDMEEMET GT(LHGIS.

Write the types of respiration seen in frog.
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1. LWen b Lngw N Crmnsd) cmde fluirellellmpay Coimuszis

Differentiate between probiotics and pathogenic bacteria.,

12, anppreng 151 &0 68 (s ) OPamE @IPTEOUS e UILT LI D MILILEEnT S S HE

Q'Sd’é:'mg;l. Sleieymiciysefian Quimenar auflena i gzm.

Air, moving from the nose to the
order of the structures,

trachea, passes through a number of structures. List the
13.  walgafan UPGEHTSDS 5.

Write the dental formula of human.

14. &L Ces@aer erenmmmrdd eremar ?

What are flame cells ?

9fley - 3/ SECTION - 3

GO0y : aeweuCuenib epeirm) cllenméaemé@ elewellésmayn. e eream 19 -8
sLLmuns ellenwalldseai, 3x3=9

Note : Answer any three questions. Question No. 19 is Compulsory.

15.  Gleudrener i iGumay Hameu LEpLIY g GLT6 Heallelmbg Coumu@sgs.

Differentiate white adipose tissue from brown adipose tissue.

16.  meolomen STEmEDLLHEneT 6Teueumyl HerLHlemd ? erenouCGuigyib Qran® sromen
Crmisamerd @HlG0H s,

I:k)w will you identify Healthy Cattle ? Name any two cattle diseases.

17. Gau gdladr eaprd aea ? Sima erliGung wpmib TUILIG. 2 BT TéaE))-
umdlenpen ?

What are the heart sounds 7 When and how are these sounds produced ?
[ Hlmiys / Tum over
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18. oL fared sriLdeden S| DHGHOETYLD DI Henr syliLseneno GHUEGHS.
Name the Layers of Adrenal Cortex and mention their Secretions.
19.  em@PselIy @ésmbanasmen ex@smliL gprsmwanasaadlmbs Ceunuds5e:
Differentiate osmoconformers from osmoregulators.
Yfley - 4/ SECTION - 4
GOLY : Smensg elamssers@n o wafléseayb. ' 2x5=10
Note : Answer all the questions.
20.

(<=1) aiEBTamL W elloii@Esmer WaIGsTamD eleki@saiilmbs CoumubEsis.
S{6V6V G

(<=4) Caradléd amemriiL(Bib &wﬁ@@fmﬂl&mm NeT& G5,

(a)' Differentiate the Chordate animals from non-chordate animals.

OR

(b) Explain the sensory receptors present in the skin.

21. () seung wamLgHen Lanflaear wreneu ?
3|6V608)

(=) sovsé sméssdear aflanss drwwrer flspajsmas smms. (smsE Qs
Carlur®)

(a) What are the functions of respiratory system ?
OR

(b) Enumerate the schematic presentation of muscle contraction (sliding - filament theory).
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